2.3.2.4 MOD=4 (3 x DS18B20)

This mode has total 11 bytes. As shown below:

Size(bytes) 2 2

Value

(PC13)

2 1 2 2

BAT Temperature1(DS18B20) ADC(PA4) Digital in(PB15) & Digital =~ Temperature2(DS18B20) Temperature3(DS18B20)

Interrupt(PA8) (PB9) (PB8)

O

DevAddr: 26 6B DE BC

DevAddr: 26 6B DE BC

DevAddr: 26 6B DE BC

DevAddr: 26 6B DE BC

, TempCl: 28.

«

DevAddr: 26 6B DE BC

DevAddr: 26 6B DE BC

DevAddr: 26 6B DE BC

Rx1 Delay: §

MAC payload:

2, Weight: 283,

FPort: 2 MAC

Digital Input |
Temperaturel and

(DS18B20) Digital Interrupt
Temperature2

' DSlSBZO
13 4F 40 ED C8 AB 77 E8 53 68 28 \\ FPort: 21SNR, RSSI: -168 rancuct": 125000

Work_mode: [ o0 93|51 1A )¢ E E FPort: 2 SNR: @.5 RSSI: -108 Bandwidth: 125000

] »

Battery Info ‘ Temperature3
ADC
payload: 134F46EDCBAB77E8636828 Bandwidth: 125000 S\R{[DS1BB204es raw payload: 40 C oE
m = )

FPort: 2 MAC

payload: 13 4F40EDC8AB77E853 6828 Bandwidth: 125000 SNR: ©.5 RSSI: -108 Raw payload: 40 BC DE

m i >

DevAddx: 26 6B DE BC

DevAddr: 26 6B DE BC




-

WIVYD D

DS18B20(1,2,3)_VDD<...>SN50_v3_VDD
¥ DS18B20(1)_DQ<...>SN50_v3_PC13
% DS18B20(2)_DQ<..>SN50_v3_PB9
Ze8  DS18B20(3)_DQ<..>SN50_v3_PB8
5 DS18B20(1,2,3)_GND<...>SN50_v3_GND

2.3.2.5 MOD=5(Weight Measurement by HX711)



1
Bl SN LST25576199
Bl Dev EULAB4041 6871864307

VCC<...>+5V
SCK<...>SCL
DT<...>SDA
GND<...>GND

Each HX711 need to be calibrated before used. User need to do below two steps:

Zero calibration. Don't put anything on load cell and run AT+WEIGRE to calibrate to Zero gram.

2. Adjust calibration factor (default value 400): Put a known weight thing on load cell and run AT+WEIGAP to
adjust the Calibration Factor.

3. Weight has 4 bytes, the unitis g.

—_

For example:
AT+GETSENSORVALUE =0
Response: Weight is 401 g

Check the response of this command and adjust the value to match the real value for thing.

Size(bytes) 2 2 2 1
Value BAT Temperature(DS18B20)(PC13) ADC(PA4) Digital in(PB15) & Digital Interrupt(PA8)

Weight




ra.

me.

Ca-

26 08 29 38

26 88 29 38

26 88 29 38

26 88 29 38

EXTI_Trigger:

«
26 68 29 38

26 8 29 38

26 88 29 38

26 08 29 38

26 88 29 38

26 88 29 38

» TempCl:

Temperature
(DS18B20)

5

Digital Input
and
Digital Interrupt

3‘6837°256F25F86348A1A' 2’ 8.2 R -188

, Work_mode: }E@ Port: 2 SNR: 0.2

'4

Battery Info ADC
3F 68379256 F2BF 8834 BA1A
MA - - 3F 60 37 9256 F2BF 86 34 BA 1A

m

2.3.2.6 MOD=6 (Counting Mode)

In this mode, the device will work in counting mode. It counts the interrupt on the interrupt pins and sends the

count on TDC time.

\

Weighteee

125608

m

8.2

125000

-168

Connection is as below. The PIR sensor is a count sensor, it will generate interrupt when people come close or go
away. User can replace the PIR sensor with other counting sensors.



PIR Sensor(+)<...>SN50_v3_VDD |
PIR Sensor(D)<...>SN50_v3_PA8
PIR Sensor(-)<..>SN50_v3_GND

4 .

Note: LoRaWAN wireless transmission will infect the PIR sensor. Which cause the counting value
increase +1 for every uplink. User can change PIR sensor or put sensor away of the SN50_v3 to avoid
this happen.

Size(bytes) 2 2 2 1 4
Value BAT Temperature(DS18B20)(PC13) ADC(PA4) Digital in(PB15) Count(PA8)




c. DevAddr: 2668 26CD MAC payload: 37 E7 B8 34 BF DF B7 3D C7 D7 C9 FPort: 2 SNR: -0.8 RSSI: -110 Bandwidth: 125000

, EXTI_Trigger: , TempCi: ©, Work_mode: b ae 00 !:: 000008 | FPort: 2 SNR: -6.8 RSSI: -110 Bandwidth: 1

« / m ]
DevAddr: 26 68 26 CD Battery Info " Count

26 B 26 CD FPoxrt: 2 MAC payload: 37T’éméﬁ,ytﬂrg C7 07 C9 Ban dth: 125000 SNR: -0.8 RSSI: -110 Raw payload: 40CD:Z

. “(Ds18B20yDigital Input '

Uplink is a duplicate

De

DevAddr: 26 6B 26 CD FPort: 2 MAC payload: 37 E7 B8 34 BF DF B7 3D C7 D7 C9 Bandwidth: 125000 SNR: -12.8 RSSI: -130 Raw payload: 40 CD

< " | »
DevAddr: 26 6B 26 CD FPort: 2 MAC payload: 37 E7 B8 34 BF DF B7 3D C7 D7 C9 Bandwidth: 125600 SNR: -0.8 RSSI: -110 Raw payload: 40CD:Z
»

<! " ]

a.. DevAddr: 26 6B 26CD

2.3.2.7 MOD=7 (Three interrupt contact modes)

Size(bytes) 2 2 2 1 1 1 2
Value BAT Temperature(DS18B20) ADC(PA5)  Digital Interrupt1(PA8) Digital Interrupt2(PA4)  Digital Interrupt3(PB15) Reserved
(PC13)
Isn50
1D: Isn50
M7 Ynja « Lastactivity 1 minute ago @ Digltal
) ) ) - , Interrupt
Overview Live data Messaging Location Payload formatters Claiming General settings
A8)

— B

- D & ExportasJSON Il Pause [ Clea

Time Type Data preview

okt
M 17:31:12 Forward uplink data message JevAddr: 26086230 <> | MAC payload: | ©E 33 7F FF 00391800 .. < TH" 2 Data rate: SF7BW125 SNR: 7.8 RSSI: -93

—— Reserved

/ \.\‘ Digital
Interrupt

M 17:31:12 Successfully processed data .. DevAddr: 26686236 <> B Battery Info e

Temperature o
(Ds18B20) ADPC Digital (PB15)
Interrupt
(PA4)
2.3.2.8 MOD=8 (3ADC+1DS18B20)
Size(bytes) 2 2 2 1 2 2
Value BAT  Temperature(DS18B20) ADC1(PA4) Digital Interrupt(PB15) ADC2(PA5) ADC3(PA8)
(PC13)




Isn50
1D: Isns(

Mnja ¥nj/a e Lastactivity 33 seconds ago

Overview ve data Messaging Location Payload formatters
Time Type Data preview
* 4 Forward uplink data message > &

Digital
Interrupt
Claiming  General settings (PB1 5)
D 3 t "
E 33 7F FF 00 &' 81 o § Port: 2 Data rat SF12BW125 SNR: 12.2 R
[oesFrrripoagdoicchooi]
Battery Info / \ \\

Temperature p ADC2 ADC3
(DS18B20) (PA4) (PA5) (PA8)

2.3.2.9 MOD=9 (3DS18B20+ two Interrupt count mode)

Size(bytes) 2 2 2 1 2 4 4
Value BAT Temperature Temperature2 Digital Interrupt Temperature3 Count1(PA8)  Count2(PA4)
(DS18B20)(PC13) (DS18B20)(PB9) (PB15) (DS18B20)(PB8)
Isn50
1D: Isn50
) Count1 gcount2
Mnja ¥n/a e Lastactivity 1 minute ago @ Dlgltal (PAB)
(PA4)
Overview ve data Messaging Location Payload formatters ~ Claiming  General settings Interrupt
I (PB15)
Time Type Data preview y e strea L4 t n
M 17:34:43 Foxward uplink data message 946 <« [ ma y 8k 31 F FF ) SF12BW125 SNR
* Successful essed data . > r‘ ‘ 2 1di; ’("ML"JULUW[U""JJ
Battery lnfo / \ Temperature3

Temperature1 Temperature2 (PB8)
(PC13) (PB9)

The newly added AT command is issued correspondingly:

AT+INTMOD1 PA8 pin:
AT+INTMOD2 PA4 pin:

Corresponding downlink: 06 00 00 xx
Corresponding downlink: 06 00 01 xx




AT+INTMOD3 PB15 pin: Corresponding downlink: 06 00 02 xx

AT+SETCNT=aa,bb
When AA is 1, set the count of PA8 pin to BB Corresponding downlink: 09 01 bb bb bb bb
When AA is 2, set the count of PA4 pinto BB Corresponding downlink: 09 02 bb bb bb bb

2.3.2.10 MOD=10 (PWM input capture and output mode, Since firmware v1.2)
In this mode, the uplink can perform PWM input capture, and the downlink can perform PWM output.

It should be noted when using PWM mode.

2.3.2.10.a Uplink, PWM input capture

PWM_Output<...>SN50v3_SDA
PWM_GND<...>SN50v3_GND

Size(bytes) 2 2 2 1 2 2

Value Bat Temperature(DS18B20)  ADC(PA4) PWM_Setting Pulse period Duration of high level
PC13
( ) &Digital Interrupt(PA8)




g sn50v3-lb
D: sn5!

v e Last activity 45 seconds ago

saging  Location  Payload formatters  General settings

Time Type Data preview ) @ T} [}

{ ADC1_V: 0, BatV: , Door_status: . Dutycycle: EXTI_Trigger . Frequency: , TempC1: , Work_mode: pwm_mode :

When the device detects the following PWM signal ,decoder will converts the pulse period and high-level duration
to frequency and duty cycle.

Frequency:
If AT+PWMSET=0, Frequency= 1000000/Pulse period (HZ) ;
If AT+PWMSET=1, Frequency= 1000/Pulse period (HZ)

Duty cycle:
Duty cycle= Duration of high level/ Pulse period*100 (%).

Duration of high level 1«—»

Pulse period

2.3.2.10.b Downlink, PWM output



PWM_Iutput<...>SN50v3_SDA
PWM_GND<...>SN50v3_GND

Downlink: 0B xx xx xx yy zz zz
XX xx xx is the output frequency, the unit is HZ.
yy is the duty cycle of the output, the unit is %.
zz zz is the time delay of the output, the unit is ms.
For example, send a downlink command: OB 00 61 A8 32 13 88, the frequency is 25KHZ, the duty cycle is 50,
and the output time is 5 seconds.

The oscilloscope displays as follows:



Unaxi= 36.4
. . Time 20.00us 0+0.0000s

2.3.3 Decode payload

While using TTN V3 network, you can add the payload format to decode the payload.





